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Important Instructions:

This sample paper comprises of 50 questions for each class while the actual paper
will be of 100 questions

Question paper is divided into 5 sections — English, Science, Mathematics, General
Knowledge & Logical Reasoning

Every question has 1 correct answer

There will be no negative marking

All questions carry equal weightage

Duration of actual exam (with 100 questions) will be 2 hours

In the actual exam, please read the instructions given on the OMR sheet carefully
and submit the completely filled OMR sheet before leaving the exam hall

In the actual exam, additional 10 minutes will be provided for reading the instructions
and filling the OMR sheet

Name of the Candidate (in Capital letters):

Candidate Signature: Invigilator’s Signature :
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Duration : 1 Hr Date : No. of Questions : 50 Max. Marks: Class : 4
Section A- Mathematics (3R A U Hiex ga- H 5 HeH Taal & al
Uich ! HHT ] Hax B & oIl dl ol fva
60506 = 60 thousands + tens and 6 FHeH I )

ones
a 5 b. 50
c. 500 d. 6000

Santosh arranged 167 books in library on
Saturday and 223 books on Sunday. If the
library has a collection of 1000 books, how
many books are left to be arranged?

(S = UFaR $I gEIdIe & 167 JED! o
Aafd fdbar 3R Adar &1 223 TxIDI DI

erafeyd fear | afg qidsrg § $d 1000
P &, dl fbeil g 941 83 €7)
a. 833 b. 777
c. 390 d. 610

If the amount written is total of the amount
of all the items as shown in respective row or
column; What is the value of pressure

cooker?

(3R et dfdaal & fd@m 7 ueg 39 9R

aXgdl 1 P Ged ¢ o, UIR Fh P Hed 1

&)
Pressure cooker | Mug | Flower vase | 160
Bucket Mug | Mug 120
Flower vase Mug | Bucket 160
250 30 160

a. Rs.100 b.Rs 120

c. Rs.80 d. Rs. 50

Rahul takes 5 steps to cover Tm. How many
steps will he take to walk along the boundary
of park?

Class 4

Im

a. 36 b. 90
c. 180 d. 200

The table shows number of students who
participated in yoga day celebration in the
year 2016 and 2017. If each student was
given a T-Shirt of Rs 100 each, how many
more T-shirts were purchased in the year
2017 as compared to 2016 ?

MNumber of students who participated in
yoga day celebration
Class @ fead Id & YR o ard
oMl 3 g
2016 2017
v 30 35
v 42 54
VI 42 56
VI 38 40
VI 26 28
g afesr 2016 3R 2017 § w7 feay
GARIE H HIT o+ a1l B! & ST G2l ¢
gfe ydd 91 &1 100 UG &1 -2 fagr m

;ﬂ,a‘rzm?ﬁgﬁrmﬁ&mé’rmﬁ@ﬂém
?)
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b. 3500
d. 5600

Soniya has four numbers: 1, 6, 7, 3. She used
each number only once to make 4 digit
numbers. If she puts 7 in tens place, what
would be the largest number she could
make?

(@I & AR FER & 1, 6, 7, 3. I UAF G B
UG had 4 & BT &1 & fod far un afe
98 7 # 39 oWIg WWd! g, d 98 $19 ¥ ¥ed o
T &1 FHdl £7)
a. 6731

c. 7631

b.6173
d. 6371

Which of the following number is not

divisible by 57

(8 T 9 B Hem s 4 vy 8l g 7)
a. 5120 b. 215

c. 5551 d. 115

Which of the following is arranged in
ascending order?

(5 & & HH T HH JRIE FH H HaRYd §2)
a. 8/4, 3/4,9/4, 6/4

b. 8/4, 3/4, 6/4, 9/4

c. 3/4, 8/4,9/4,6/4

d. 3/4,6/4,8/4, 9/4

Nishchay leaves for school at 7:40 AM and
reaches school at 8:15 AM. How much time
does he takes to reach school?

(Fya g8 7:40 Wod W & fow Addar 8 @ik
g8 8:15 W Wd Ugddl ¢ dl [YY hd
UgdH & fo1U e [doe=1 99 11 87)

a. 25 minutes b. 35 minutes

c. 45 minutes d. 55 minutes

10. [ | \_/L/Q are all ;

Class 4

11.

12.

13.

14.

a. Quadrilaterals (3isT)
b. Parallelogram (&R Tqsfs)

¢. Polygons (@)

d. Rectangles (3ma@)

Mr Gupta gave a toffee to customer on
purchase of 15 pencils. If he gave 3 toffees to
Rahul, how many pencils he has sold?

AT S 15 9T & @i W YD B Th
SI®T &d 8, SR I=IA g P 3 w3l

el fpan Ui o §2)
a 5 b. 30
¢ 27 d. 45

There were 587 mangoes and apples on a
fruit stall. If the number of apples is 13 more
than mangoes, then how many mangoes
were there on stall?

(Bl & W€Id TR 587 3TH 3R IF ¥, 3R I9
@1 FE A A 13 NS §, 9 ©ld ) fHar
HH ?)
a. 300
c. 225

b. 287
d. 600

Ribbon X is twice long than ribbon Y. Ribbon
Y is thrice long than ribbon Z. What is the
total length of all ribbons if ribbon Z is 4cm?

(e x &= v &1 gamn d e dar g1 Re y
R& z 9 dF 1 dan 8. 3R ReF z @t aarg

dcm & d, Gt e fea? oo darg &1 87)
a. 24cm b. 12cm
c. 36cm d. 40cm

If three boxes are 300g in weight, then what
is weight of one box?

@fe o9 Ssdl &1 99 300 U9 € ol U Sl
&1 gor gRTl )
a. 30g b. 100g
c. 200g d. 150g
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15.

16.

17.

18.

19.

20.

21.

22.

Find the value of P and Q
(P 3R Q 1 HeU ALY )
7P24-594Q=1977
a. 8and7 b.9and7
c. 7and?9 d.7and 8

Section B- English

“No smoking here". What type of sentence is
it?

Imperative

Exclamatory

Interrogative

Assertive

on oo

Find the verb and adjective "The very famous
detective Mr. Bakshi will take our case.”

a. Famous, detective

b. Will take, very famous

c. Detective, case

d. Mr. Bakshi, detective

It was a bright sunny day there
were a few dark clouds in the sky.

a. And b. But

¢ S0 d. Because

Find the correct sentence
a. Childrens food should be served in time.
. Children's food should be served in time.

b
c. Childrens's food should be served in time.
d

. Childrens’ food should be served in time.

If good is to best then old is to

a. Older b. Elder

c. Oldiest d. Eldest

I cannot eat these noodle a spoon.
a. With b. By

¢. From d. For

Jonathan Swift is famous for his novel
a. Robinson Crusoce

b. The Jungle Book

Class 4
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c. The Water Babies
d. Gulliver's Travels

23. The antonym of the word guilty is

a. Innocent b. Dirty
c. Needy d. Sorry
24. The bus has not yet. We can catch it.
a. Leaving b. Left
c. Going d. Coming
25. [ feel very tired today. I sleep last
night.
a. Haven't b. Didn't
c. Hasn't d. Wouldn't

26. There was rush in the market as there were

buyers.
a. Too many b. Too much
c. Some d. Few

27 - 30 Read the poem and answer the following
questions
Praying Mantis
Mantis sits on the branch of a tree,
Still as an old dead twig is he.
His legs held together as though in prayer,
His pin-prick eyes are fixed in a stare.

Fly buzzes past, suspicious and quick.
Mantis is still as a dry withered stick,
But inside he's alert, with a clear focused thought...
And SNAP! go his legs - and the fly is caught.
Paul King

27. Old dead as twig means
a. Mantis is dead
b. Mantis is not moving
c. Mantis is old
d. Mantis is praying

28. Which word in the poem means small
a. Withered b. Focused
c. Pinprick d. Stare
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29.

30.

31.

32.

33.
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Why was Mantis Still?

a. So that he can catch fly

b. So that he can pray properly
c. So that fly moves fast

d. Bothaandb

The antonym of suspicious is
a. Skeptical
c. Cynical

Section C- Science

b. Doubtful
d. Trustful

Spines on cactus plant help it to:

1. Make food by the process of
photosynthesis

2. Reduce loss of water

3. Protect it from herbivores

a. Only 2 b. Both 1 and 2
¢. Both2 and 3 d.1,2and 3
(hded & Pic [bd HH 3M1d §2)

1. UhTRT Gl i Ulchdl § Yo &1 &
2. Ut &1 g1 5 B |

3. 3 Pl ArpHaf § F94 P oy

a. $dd 2 b.1 3R 2

c 29R3 d 1,233
Match the following:

1. Fat a. Egg yolk

2. Iron b. Energy

3. Protein c. Blood

4. Carbohydrate d. Muscles
(e firdr &3

1. %e a. 33 Bl \_rlﬁ
2. 3MHA b. St

3. U c. Xdd

4, PGS d 17 GofRm

a.1l-a 2-b, 3¢ 4d
b.1-a, 2-d, 3¢, 4-b
c.1-a 2, 3d 4b
d1d 2¢ 3a 4b

Which of the following is not true about
Oesophagus?

Class 4

34.

35.

36.

a. It helps in passage of food

b. Itis a part of digestive system

c. Digestion starts here

d. Itis joined to stomach

(ATell o & H o1 Hel el 87)

a. g HioiH &1 UiRd e H Aee el 8
b. 9% UTe o3l &1 U ol ¢

c. U I8l IF gl 8

d. Te e A eI 8

We should wear cotton clothes in summer
because
a. they protect us from sun's UV rays
b. they prevent body odour
c. they make you feel cool
d. they don't get dirty
@ niffal & gt HuS yg AT a4l
a. d g8 g @1 .4t fpvol S 54 €
b. amﬂ?aﬁﬂﬂﬁrm%
c. 43S AE
d. 97

The process of conversion of gas in to liquid
on cooling is called

a. Condensation b. Evaporation
c. Precipitation d. Sublimation
(719 I 381 B W IR H FUIR0T DI ufebar
@1 PRI E__)

a. 9y

b. HTY & @1 Ufsea

c. gy g7 S ufeba

d. I &1 B o

Ram is trying to push a big stone but can not
move it. Work done by Ram is

a. Equal to weight of stone

b. Zero

¢. double than actually required

d. Infinite

(XTH U 98 URR P! YGHI & D DI HY
@1 8, Tifch1 g8 3117 T8 5g1 Fahel €1 I &R
faar Bt )

a. JRR & g9 & &R ¢
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37.

3s.

39.
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b. AT

d. 38

Which of the following statements is
incorrect?
a. Deforestation results in soil erosion and
land sliding
Animals are dependent of forests
c. Forests have no effect on water cycles
d. Plantation helps forests to grow and
regenerate

Fafafad # @ S W Sy Tad 87)

a. 02! @1 &Rl SR S fE@HEA1 941 3
HeTg &I URUH §

b. Og] Sinel )R AR §

c. @1 B UM & bl IR Hls UHE el Isdl 6

d. &R STTe! & dg1 3R Yol H3
Heg PIdT

Four carts are moving down a hill slope.
Which car will reach down hill first?

a. Cart with 2kg sugar

b. Cart with 4kg rice

c. Cart with no bag

d. All will reach simultaneously

@R S TP YgTS1 gl a1 W@l g1 B
U HR Ugdl Jax meft?)

a. 2 foran =R & Ty arch

b, 4 fdel! /g & 1Y grelt M

C. EﬁﬁTﬂEﬁ

d. gt U 1y ugdi

When you blow air into balloon, its size
increases. This shows that

a. Air occupies space

b. Air contains oxygen

c. Airis gaseous form of matter

d. All of the above

(STel 1Y e H gdl Hd 8, dl SHDI DR
¢ il ¢ | U8 qufan & fs)

a. d1g g ol @

b, IR H 3RS Ba &

Class 4

40.

41.

42,

c. g uerd &1 T U 8
d. SR & gt

Find the correct match

Teeth Number Type
in adult
Dentine
a. Inscisors 4 Tearing
b. Canine 8 Chewing
c. Inscisors 8 Chewing
d. Canine 4 Tearing
(e} forer @)
gid TG HTEN oW
a. Siyory 4 e |
b. PR 8 ECIE]
c. Sior 8 qaH
d. A 4 IS

Section D- General Knowledge

Gitanjali is written by

a. Rabindra Nath tagore
b. Mahatma Gandhi

¢. R K Narayan

d. Vikram seth

ﬁﬁaﬁﬁfﬁmﬁﬁﬁﬂ?ﬂ
= 1Y TR

b. HETHT Tifel

c. IR P AR

d. fawnds

Norway is also known as

Pllﬁ["’ 5



43.

44.

45.

46.
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a. Land of rising sun

b. Land of midnight sun
¢. Land of Kangaroos

d. Land of morning calm

Ad®_ Stwg e am g )
a. 37d 3o B ¢

b, STt A D W P13

c. DA B Yl

d. gdg I Yifd B Rl

If a little baby is not well, mummy will take
her to

a. Dentist

b. Ophthalmologist

c. Paediatrician

d. Cardiologist

(U Bel g1 dIHR & Il 77T 39 fbw
WRE b Sl & g o i)

a. Sfex

b. SRIEHTERE

C. ’E‘I%Gﬂ}cﬁﬂ

d. PSR

Find the odd one out

a. Corner b. Checkmate
c. Penalty d. Goal
(5 & Q Ted A B W ?)

a. @R b. dhHE
c. UAw! d. e

What is the name of river from which India
derives its name?

a. Ganga b. Yamuna

¢. Indus d. Brahmaputra
@fogar am P2 a9 3 forar i g?)

a. TN b. GHAT

b. %84 d. SFRTIRT

Section E- Logical Reasoning

Select the correct order from the heaviest to
the lightest.

Class 4

47.

48.

49,

50.

(MR A gosh & HH DI UgTH) |

S>P>R>Q

P>Q>R>S5S
P>S>Q>R
R>Q>S>P

o n oo

Complete the series

R e Fa H @Y
SCE, TEG, UGl ___, WKM
a. CMO

¢ VK

b. UJI
d. JT

How many triangles are there in the given
figure?

dﬁaﬂwﬁfﬂﬁﬁaﬁm% ?)
a. 16
b. 23
c. 26
d. 27

Identify the even number which is greater
than 50 and less than 70. It is divisible by 4.
(39 TH (even) TET Bl Uga I &l 50 F

go1 & 3R 70 A BieT 3R S 4 A fava @
o)

a 54 b. 56

¢ 69 d. 66

Select the correct mirror image
(Hel mirror image (Wlafen) &1 UgaH &3)

TOYOTA

ATOYOT TOYOTA TOYOTA ATOYOT

a. b. . d.
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